
∆𝑉 =
𝑊

𝑞
   

∆𝑉 =
2.4 x 10−15

1.6 x 10−19   

∆𝑉 = 1.5 x 104 𝑉

∆𝑣 = √
2𝑊

𝑚

∆𝑣 = √
2 x 2.4 x 10−15

9.11 x 10−31

∆𝑣 = 7.3 x 107 m s−1

∆𝑉 =
𝑊

𝑞
   

∆𝑉 =
40 x 10−12

1.6 x 10−19   

∆𝑉 = 2.5 x 108 𝑉

𝑊 = 𝑞∆𝑉

𝑊 = 1.6 x 10−19 x (2.5 x 108 − (2.5 x 108 x 0.25))

𝑊 = 3 x 10−11 J

𝐸 =
∆𝑉

𝑑
   

∆𝑉 = 𝐸𝑑

∆𝑉 = 3 x 106 x 4 x 103

∆𝑉 = 1.2 x 1010 𝑉

𝐹 = 𝐸𝑞

𝐹 = 3 x 106 x 1.6 x 10−19

𝐹 = 4.8 x 10−13 N

𝐸 =
∆𝑉

𝑑
   

𝑑 =
∆𝑉

𝐸
   

𝑑 =
70 x 10−3

10 x 106    

𝑑 = 7 x 10−9 m

𝑑 =
7 x 10−9

1 x 10−9   

𝑑 = 7 𝑛m

𝐸 =
∆𝑉

𝑑
   

𝐸 =
30 x 10−3

7 x 10−9    

𝐸 = 4.3 x 106 𝑉 m−1

 


